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Use truth table to prove that the following Eﬂ

argument is valid: deola
ool
1. p— (qVvr) p q r qvr p—(qV T) -q p—or
2. —q
~Pr T | T | T T T F T
T T F T T F F
T F T T T T T
T F F F F T F
F T T T T F T
F T F T T F T
F F T T T T T
F F F F T T T

Argument is valid (Aalla 4aal))
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Use truth table to prove that the following [:AY/

argument is valid: deola
ojtiol
1. pvr p q r pv T p~q | q=>r | @ —=qQ N(@—T) | q
2. (p—a)A@—r)
-9 T T | T T T T T F
T T F T T F F F
T F T T F T F T
T F F T F T F T
F T T T T T T F
F T F F T F F F
F F T T T T T T
F F F F T T T T

(Argument is invalid) 4alba e Zasll of and Gualdl) jlaudl §F Jo¥1 Sl ) Tatd
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Use truth table to prove that the following ﬁ
argument is valid:
1. P ! _Iq - - V- V —
- P—1 T T F F T T T

Argument is valid (Aalla 4aall)
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Valid argument Forms 5735

Modus Ponens pP—q

p
g
Modus Tollens p—q

~q
\ ~p
Generalization a p b. ¢
PV .PVg
Specialization a pAg b. png

Conjunction p

SPAg
Elimination a. pVvg b, pvg

Transitivity p—>q

q—=>r

p—r
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deol ~

prove that the following argument is valid: &t4-2J

argument

a. " pAq

b.r—p

C. A r—s

d s—t
ot

solution
1. . pAq from (a)
S by specialization
2. r—op from (b)
—p from (1)
SoAar by modus tollens
3. —mr—s from(c)
- r from (2)
n S by modus ponens
4 s—t from (d)
S from (3)
st by modus ponens
Argument is valid
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prove that the following argumentis valid: <ol

argument

a p—q

b. gvs— t
c. -t

.'.—lp/\-lq

8)li_all

solution S —
1.gVvs—t from(b)
-t from (c)

~=(qVs) by modus tollens
—(qVs) =-qgA-s by Demorganlaw

2. 1qNAN—s from (1)
s =g by specialization
3. p—gq from (a)
—q from (2)
sAp by modus tollens
4 —p from (3)
—q from (2)

~=pA—=q by conjunction

Argument is valid
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deol ~

prove that the following argumentis valid: o

argument
a p—-q
b. r—gq
C. r

oo -lp

solution
1. r—gq from (b)
r from (c)
| by modus ponens
2. p— —q from (a)
q from (1)
S =P by modus tollens

Argument is valid
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prove that the following argumentis valid: <ol

argument
a p

b p—q
c SVr

d r—-q

oS

6)liadl

solution
1. p— gq from (b)

p from(a)

nq by modus ponens
2. r— q from (d)

q from (1)

T by modus tollens
3 SVr from (c)

—r from (2)

oS by elimination

Argument is valid
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prove that the following argumentis valid: <ol

6)li_al

solution

argument
a pv@Qv(rVvs))
b. -p
c. -q
d -s
oo

1.pv@QV(rvVvs))
=(pVvVaq)V(Vs)
2.-p
~q
SEapPpA-(q
=-(pVaq)
3.(pVq)V(rvs)
-(pVaq)
& (r Vvs)
4. (r vs)
=S
S r

Argument is valid

from (a)

by associative law
from (b)

from (c)

by conjunction

by De morgan law
from (1)

from (2)

by elimination
from (3)

from (d)

by elimination
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prove that the following argument is valid:

argument

a. -pv(q—r)
b. -r

~=(pAa)

>y

0jligaJl

solution

1. - pv(q—r)=-=pV(—=qV r) from (a) by conditional law
= (=p V —q)V r by associative law
=—-(pAq)V r byDemorganlaw

2. =(prhq) VT from (1)
-r from(b)
~=(pA Q) by elimination

Argument is valid
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prove that the following argumentis valid: dsols

argument

a p—4q

b s—gq

c. -q
LapA-S

0jlioJi

solution
1. p— q from (a)

—q from(c)

Sap by modus tollens
2. s—gq from (b)

—q from(c)

) by modus tollens
3 —p from (1)

S from (2)

sWap A =S by conjunction

Argument is valid
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prove that the following argumentis valid: %Y/

b
C.
d
e

argument
d.

-p —rA-s
.t— S
u— =p

solution
deola
oytiall 1. uvw from (e)
- W from (d)
S U by elimination
2. U— -p from (¢)
u from (1)
sap by modus ponens
3. =-p—rA-s from(a)
—p from (2)
WP =-S by modus ponens
4. rA-s from (3)
- by specialization
5 t—s from (b)
=S from (4)
o=t by modus tollens

Argument is valid
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prove that the following argumentis valid: %Y/ solution

argument
a.-pvq—or
b. r—>sVt
C. -—-1SAN=U
d -u ——t

o p

0jligaJl

1.=SA=u from (c)
SoaU by specialization
2. —u —=t from(d)
U from(1)
oot by modus ponens
3. asAN=U from (c)
) by specialization
4, -t from (2)
=S from (3)

» =7SA =t by conjunction
—sA—=t=—(sV t)by Demorganlaw

5 r—svt from (b)

-(sV t) from(4)

Soar by modus tollens
6.wpVvq—r from(a)

-r from (5)

~=(=pVvq) bymodus tollens
~(=pVvVq) =pA-q by Demorganlaw
7. PA—q from(6)
P by specialization
Argument is valid
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0)liaJl

prove that the following arguments are valid:

Argument(1) Argument(2) Argument(3)
a. p aa o 9A(r—s) a. (pVaA(r—s)
b. g b. p b. —q

~(pAg@)VT C I C 15

SqAS SPAr

Argument(4)
a. pAg
b.(pvq) —r

oo T
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